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1) LCM is 8.
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30 15

3) 10 LCM is 15.
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15 15
4) 5-6+42=(5-6)+16=230 +16 =46
5) 9-42-19=(9-16)-19=144-19=125

6) 62-8:2=(36-8)+2=288:2=144

7) 12-3+42-8=(12-3)+16-8=
36+16-8=44

8) 18:2:-5+6=(9-5)+6=45+6=>51
9) (32+(B8+32)=9+(8+9)=9+17=26

10) 8+32+4-22=8+32+4-4=
8+8-4=12

11) 3A-3B+5A+4B+7 =
(BA +5A) +(-3B+4B) +7=8A+B+7

12) |5-62]| = |5 36| = [180] =180

13) |18+28] =|18+8| =|26] =

=

14) |32-82| = [9-64] = |-55| =55

15) [42-22| = [16-4] = [12] =12

2B

1)

2)

o

9)

10)

11)

12)

13)

16=2x2x2x2
18=2x3x3
LCM=2x2x2x2x3x3=144

10=2x58
14=2x7
LCM=2x5x7x=70

24=2x2x2x3
50=2x5x5
LCM=2x2x2x3x5x5=600

4-8+432=(4-8)+9=32+9=41

10-42-25=(10-16) - 25 =
160 - 25 = 135

72.9:2=49-(9+2)=49-4.5=445

18-2+52-11=(18-2) +25-11 =
36+25-11=50

15:3:8+10=(5-8)+10 =
40 + 10 =50

(-5)2 + (9 +42) =25 + (9 + 16) =
25+ 25 =50

92448 +12-33=81+(48+12)-27 =
81 +4-27 =58

l42-9] + @ +2)2=142-9] +(2)2=
[16-9] +4=7+4=11

[32.52] - (15+3)3 + 18 =
[32-52[-(5)3 +18=|9-25| -125 + 18 =
[-16] - 125+ 18 =16 -'125 + 18 = -91

[102-52| + |-8 + 22| =
[100-25] +]-8+4| =
754+4=79

[75] + |-4] =

[18-36] +(|3-52| -15)2 =
[18-36] +(13-25] -15)2=
|-18] + (|-22]-15)2 =

18+ (22- 152 = 18 + 72 = 67

[(-10)2 -9] - |24 .52] =
[100-9| - [16-25] = |o1] - |-9] =
91-9=82

2C

1) 4:7+32=(4-7)+9=28+9=37
2) 52+48+2=25+8+2=25+4=29

3) 122x(2+3) 4=(144x 5) -
720-4 =716

4) 9x12-8=(9x1)-8=9-8=1

5) 14+2-1x6=7-6=1

6) 6+28+7-42=6+28+7-16=
6+4-16=-6

7) (-32+9+46=9+9+6=1+6=7

8) [6+(-2)|x5+32=]-3|x5+9=
3x5+9-15+9 24
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10 x g x xS =
1 1 1
11) 64 22X 2X2xX2%2
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2 32
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12)

13)

14)

15)

16)

17)

18) 2.4x1.2=288

3x3x3x3
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3
/\
3 3
32 _2x16 _ 2 :
%8 “3x18 3 16 is GCF

24=2%2%2x3
36=2x2x3x3
LCM=2x2x2x3x3=72

2 .2 _14 6 _ 14 _
3 7 21 21 6
1
273
2,2 2 7 _ 14
3 7 - 3 2 6
1
273

.7x.3=.21 (because 1/10x 1/10 =1/100)

(see note for #17)

19) 1.3x2.1=273 (see note for #17)

20) 4x32=1.28

or

N
o= [N =
s

2.73 (two decimal places in
answer)
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2D

2)

4)

5

42 4 (7-3)2- |-2]=-16+(4)2 - 2=
16+16-2=-2

4(10-3)-5(6) +8+2=4(7) - 30 + 4 =
28-30+4=2

19-(7)(-2) +62 = -19-(-14) +36 =
-19+ 14+ 36 =31
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112 :44+2/3=121+4+2/3=121/4+ 2/3 =
363/12 + 8/12=371/12 or 30 11/12

5x3+4+42-7+(-8+4)=
5x3+16-7+(-2)=15+16-7-2=22

52 4 (-6)2=-25+25=0

|92 +9) +3)|= (81 +9) +3| = 19+3 =3

1 71 1 1
Lx—‘x§=—~—
5 L F ; 5
1
5 _ 20 LCM is 96.
24 96
s 27
* 32 T 96
A7
96

11) (3x4)x6 @ 3x(4x86)
12x6 3x24
72 = 72

12) yes, see #11

13) 10-(8-6) @ (10-8)-6
10-2 2-6
8 # -4

14) no, see #13

17) 3833
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19) 50
.05 238

25

2E

1) -3+23-8+72=-3+8-8+49=46

2) (5x6)+3=30:3=10

3) [(10+3)2-9]+20=[132-9] +20=
[169-9] +20 =160 + 20 = 8

4) A+B+2A-3B=(A+2A)+(B-3B)=
3A - 2B

5) [42+6-2]x11=[7-2]x 11 =5x11=55
6) 8+45:9+3=8+5+3=16
7) (42 +(52-32=16+25-9=32

8) (192 :8)x4-167-200|=24x4- [-133 |=
96 - 133 = -37

5]/0 7 7 45 29
9) o 2

125
91
Cross multiplication always yields a correct
answer for addition of fractions. In some
cases, you will have to reduce after finding the
answer.

12)

13)

14)

15)

16)

17)

18)

19)

20)

10=10
100 =10x10
LCM =10x 10 =100

(LCM may also be found using prime
factors)

6+2+9® 2+6+9

8+9 8+9
17 = 17
yes, see #13

Either method may be used for dividing
fractions)

45

3.1/ 1.&}/95
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3 groups of $.40

elie

$.2 4 per person

6 1.44
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